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Name: Addition 

Warm Up

1)  3 6 5 8
5 3 6 1+

2)  9 6 3 5
3 8 4 6+

3)  21 7 2 4
6 8 9 5+

4)  75 9 3 5
27 4 6 7+

1)     Ten horses have a combined mass of 5 387 kg 
and the floats to carry them have a mass of 15 608 
kg. What is the total mass of the horses and floats?

2)     Aleah bought two blocks of land. They cost $97 
500 and $86 990. How much in total did Aleah 
spend?

3)     The number of people attending an art show 
was:
Day 1: 49 664     Day 2: 56 777
How many people attended the art show over the 
two days?

4)     On Saturday 66 078 people went to the athletics 
final. On Sunday 52 766 went to the tennis final. 
What was the total number of people who went to 
the athletics and the tennis? 

5)    A herd of 14 cows has a mass of 10 602 kg and 8 
horses have a mass of 4 663 kg. What is their total 
mass?

6)    Layla spent $1 139.50 on shoes and $4 703.90 on 
clothes in a year. How much did Layla spend in 
total?

7)    This year the nesting seabird count was 78 634 
on Rose Island. At nearby General Island the count 
was 52 779. What was the total number of seabirds 
counted?

8)    The zoo weighed its two elephants. Daisy had a 
mass of 6 403 kg and her sister had a mass of 5 448 
kg. What was their combined mass?

9)     A shop’s total sales was $91 473 on Saturday and 
$88 344 on Sunday. What was the total sales for the 
weekend?

10)     An orchard produced 17 830 mangoes in 
January and 29 134 in February. What was the total 
number of mangoes produced in the two months?


